
SAP ABAP table N1PDDGKI {PERINAT: Data about birth}

N1PDDGKI

MANDT [CLNT (3)]

DOKAR [CHAR (3)]

DOKNR [CHAR (25)]

DOKVR [CHAR (2)]

DOKTL [CHAR (3)]

N6GKIKLAG [CHAR (2)]

N6GKIGPOCO [CHAR (2)]

N6GKIGEBMS [CHAR (10)]

N1PDDGKIGEBMOD

MANDT [CLNT (3)]

EINRI [CHAR (4)]

GM_ICPM [CHAR (10)]

 N1PDDGKI-N6GKIGEBMS = N1PDDGKIGEBMOD-GM_ICPM 
0..N

0..N
N1PDKGKIGPO

MANDT [CLNT (3)]

N6GKIGPOCO [CHAR (2)]

 N1PDDGKI-N6GKIGPOCO = N1PDKGKIGPO-N6GKIGPOCO 
0..N1

N1PDKGKIKLAG

MANDT [CLNT (3)]

N6GKIKLAG [CHAR (2)]

 N1PDDGKI-N6GKIKLAG = N1PDKGKIKLAG-N6GKIKLAG 

0..N

1


